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Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

=

Which of the following quantities is a vector?

Options :

1. 4

- Speed

2. s '
P Gravitational Potential
3;/ Torque

4. Energy

®

Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
rafataa # O wig & &@or gfger 82

Options :
arfet

BRI EECH

g QY v g

14
ﬁ

Question id : 6038 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 3 ms™ for 10s. It then runs at

i = 2 . L =
constant speed for 20s and decelerates at Sms™ until it stops at the next station. The distance between
the two stations 1s:

Options :

1.
& 840m
2.
P 740m
3.
% 640m
4. 340m
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Question id : 6038 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T AT Yo R AT & vH T ¥ 9w ¢ A’ 10 ¥%s 8% dms? fraw @

Ifd Ferdl §1 59k a1 Ag Iof 20 G5 O FOadaee g § asdr § 3R e
3T T UX Fhel deh 5ms? Fr eX § AT R HH T ¢ Al T & o @
gl faraett &

Options :

! s40m
2 740m
3. 640m
% 34om

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The escape velocity for a body of mass lkg from earth’s surface 15 11.2kms, the escape velocity for
a bodyv of mass 100kg would be:

Options :

1. i

% 112% 107 kms'!
2.

«  112kms?

3.

w  11.2kms!

4.

«  L12kms!

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
geelt 1 Fag ¥ 1kg 8 F U3 &7 gemaa 97 11.2kms™! &, a7 100kg g=aa &

5 &1 TeraeT d91 Tohder g

Options :
11.2 x 102 kms™

#

2 112 kms™
> 112 kms!
‘; 1.12 kms™’

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bemoulli's theorem 1s a consequence of conservation of:

Options :
1.
E ;
@ Nergy
M
w  Momentum
:; Angular momentum
4.
% Mass

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT T vAT 38 § Fad HLaor &1 9fienH §:

Options :
L st
2
3 i
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Question id : 6041 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The zeroth law of thermodynamics mtroduces the concept of:

Options :

1.

% Heat

2. Temperature

o

3. e

- Entropy

‘; Internal energy of the system

Question id : 6041  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT &I FIal oA S [ TUROT & @] AT 6

Options :

P

#

E 1

o

3w

#

‘; TOTTer S STARE Felr

Question id : 6042  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The temperature at which the molar specific volumes for liqumd and vapor
phases become equal 15 termed as:

Options :
1 - ;
© Buoil t
. oiling poinl
2. Critical temperature
o
3. Triple point
#
4; Temperature of vaperization

Question id : 6042  Question Type : MCQ (Correct+ 1.0 , Wrong - 0.0)

g dIgHA FT SEdlldl & o T g & fov Ao [@fdse smaas 3 arsg gaer

R §1 A
Options :

lg FUATR

fk STl ATTATT

% PR

; aTSHIeh{oT T ATTATT

Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The temperature of the reservoir of a Camot engine. operating with an efficiency of 70% 1s 1000K.

The temperature of its sink 15:

Options :

I 300k
2 400K
3 S0k
T 700K
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Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
70% &Har & T gii=nfeld Ue @il Sofel o AR & ardA 1000K 81 s

& & dTIA 4T B

Options :

L 300K
% 400K
3. 500K
3 700K

Question id : 6044 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A tuning fork. vibrating with a frequency of 90 Hz. 1s moving towards an observer with a with a
speed of 0.1 times the speed of sound. The frequency of the note heard by the observer would be:

Options :

L osomz
2 o0H;
3 100Hz
T 10

Question id : 6044 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
90 Hz & 3Mgfcd W HIGA Teh TaiA, =afdl & a1 &1 0.1 = afd &, Jatem Hr

3R 9€ T 81 WaTh EaT e A atel T AT 3dfed T e

Options :

L 80 Hz
290 Hz
3,100 Hz
T 120 Hz

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a desert. a beetle’s motion sends fast longrtudinal pulses. vp = 150 msL. and slower transverse

pulses. vg =50 msL, along the sand’s surface. The sand scorpion has eight legs: spread roughly i a

circle of 5 cm diameter, intercepts the faster longidudinal pulses 4.0 min earlier than the slower
transverse pulse. The prav 1s located at a distance of:

Options :

;é 3em
fk 30 em
zé im

4; 30m

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

ue YEaE A v 3 & aifa Yol Wap W dlg seeed w9 v =150 ms”

3R A euey g vs = 50 ms” A 139 F g F 36 R § S e 5em o # e §
St e aeteed T @1 o uT Tig @ 4.0 fFe gpe dafEa & ¢ RieR e g W e

Options :

3cm

30cm

L e
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3m

30m

wPH> g

Question id : 6046 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Y and Z are two partially reflecting glass sheets. a distance / apart in air. White light falls normally
on Y. The light emerging from Z 15 analysed by a spectrometer. A dark band 1s observed in the
spectrometer at a wavelength . The distance / must be equal to:

-

jeid =
v Z

Options :

1.

- n\/2

2.

(n+H1/2)02

3 (142

®

4

Y@

Question id : 6046  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Y 3R Z ar anfas &9 @ wrads wia # ofiew § S gar &7 v g ¥ /g WO

37T TET &1 Y W AHEAd: Gthe WehleT USdT &) Z § I drel YT & faeemer us
TR @Rt foFar AT §1 o @19 & W) Tlegel & U 6 T H avs o@r
ST §1 ¥ / 3 @ fhEe R gl iR

ey

je 0 —
v w2

Options :

1.

- n\/2

2 (1202

o

3. (142

®

4.

b @

Question id : 6047 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
According to Curie-Weiss law

Options :
: T
: By
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Question id : 6047 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FI -J50d A & AR

Options :

1. _C

v 735
2. . C

% XTTig
3. _ C

x L7 T
4. __C

% X7Tg

Question id : 6048 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A 50uf capacttor m a defibnillator 1s charged to 3000V The energy stored in the capacttor 15 sent
through the victim during a pulse of duration 2 ms; the power of the pulse 15 close to:

Options :

L s0Rw

2 ISkW

3 150kW
T 2006w

Question id : 6048 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U BEgeet F 50uf & FIHET &7 3000V dF 3T AT A §1 2 ms yaE &

T & oI $Oelley & wR & a1 For AEeA & Angs 9 99 Sdr §; 'y

offeFa eaTsaT B
Options

1.

L 50 Kw

2 75 kW
3150 kW
#®

4.

L 200kwW

Question id : 6049 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Two parallel beams of electrons moving in the same direction will:

Options :
1.
repel each other
o P
2. y 2 .
" will not interact with each other.
3.
.,  attract each other
ié be deflected normal to the plane containing the two beams.

Question id : 6049 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
weh B faem A AfAART Seiale 7 & AR [T ger

Options :
‘1? F g # dfasid o
2 uE IR A weifad s ae
; T GEY N HTHOT FET
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‘; a1 faoT gt &1 TATaSE & arel SHo & 3R @A §9 F H5 S0

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A magnetic material when placed 1n a magnetic field 1s pulled out of it. The material 15

Options :

lg Paramagnetic

fk Diamagnetic

; Ferromagnetic

4; Antiferromagnetic

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

9 T FED TG H U GEadid & H (@AW, 36 TFahrd a1 ¥ aET &Y forr
ST §1 & T8I

Options :

L mghE ¥

2.

5 aioaFahT &

3@ dlggeadT &

4 ofgarew-fred &

Question id : 6051 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The earth’s magnetic field at a given point 15 0.5 Whm™. This field is to be annulled by magnetic
induction at the centre of a circular conducting loop of radms 3 Ocm. The current required to be
flown in the loop 1s nearly:

Options :
Lo02a
2 04A
3 aa
% 404

Question id : 6051 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
s T aw fig W gedr & gredE &7 0.5 Wbm? #1 5cm 3ear & geameR

AR T & &g W IR IROT ZaRT 56 &1 I [Asher fomam AT 81§09 A waried
fhe St & fu safard faegd varg oemeear fohcer glom

Options :
Loo02aA
2, 04A
3 4A
to40A

Question id : 6052  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a bee structure. the packing fraction 1s:

Options :

]g V2 16
2& '3

3. (my3)8
v
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A; V516

Question id : 6052 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
v SRIRT ST A, Tl 3T SHA o @ &

Options :

L VZal
2 3

3. :
w (mV3)/8
PERT

Question id : 6053 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Electric field intensity at the centre of uniformly charge distributed hemisphere 1s

Options :
1L =
o dg,
2. 29
® g5
3.

® 2g
4.

®

Question id : 6053  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
UF A &9 ¥ HARIT e & &g @ dega & drgar &= gl ?

Options :

1.
o

»

wPH gv

Question id : 6054 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
What is the difference in temperature of water at the top and bottom of a rainfall of height 500 mts.

(Sp. Heat of water = 103 cal kg & J=42 J/cal)

Options :

L 20c
-
3, 116
4 asc

Question id : 6054 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ek 500 Hex 3= aut (rainfall) & of HR 9@ W U & argEE 7 @ How gem 7

(ar=fr & Taferse mwAT water = 103 calkg & J = 4.2 Jical)

Options :
1.
% 20°C
2.
P 2°C
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3. 116€C
o

4. ,

w  4.9°C

Question id : 6055 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Energy of a photon of wavelength 5890A° eputted by sodium vapour lamp 1s

Options :
Loo2ag

2 21MeV
3o21ev
T 21ca

Question id : 6055 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U IETA T FT caRT Iadteid 5890A° TRAIGEd arer Wickar I Feit gl

Options :
Lo21y

2 21 Mev
3 21 ev
1 21cal

Question id : 6056 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two springs are connected to block of mass M placed on a frictionless surface as shown below. If
both the springs have a spring constant k. the frequency of oscillation of the block 1s:

/{ %

o

N
™\

O

N
By
.\\
_\':“-.
-
i
3%
.
N
ot
—_—

Question id : 6056 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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AT ZMT AT HAAR T GYURTed TAE W GETAA M & s @ & O S5 g b
afe gt el & T R 4 &, df soie & gretel & 3mdafcd @ g

7] )
%II :5’/
Z
/7 L
Z /
s -
;( cd ™ %
- Y Pl /
/f TYYY” 7
- /!
Ay YT /, /

-

—— N

N\

! P _
7 / S E e ////x'// L7 / 777 /f/;'/f{i

¥

Y
LY
P

Options :

Question id : 6057 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The occupancy probability P(E) according to Bose-Eisntien statistics 15:

Options :
; (exp(E/RD) - 1)

lexp(E'XT) +1)

2.
#
3 I NexpCERD - 1)
® ACEPLH

4 o
“ 1/(exp(-E/&T) +1)

Question id : 6057 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Jre- 3Metersd & ISl & AR HEgIar Watateier P(E) st 3 Raetr &

Options :
1.
v 1(exp(E/LT) - 1)

Tlexp(E/kT) +1)

2.
®
3 exp(-E/AT) - 1
1 U(exp(-EIKT) +1)

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the distance between sun and earth were reduced to half 1ts present value. then the number of davs
in one year would have been

Options :
1.
£
2.
@ 129
3. :
w 258
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4.
“ 730

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

g ¥F 3R Tt & dra & gl aoEe gl &7 3w g ST A v av A e RGA

it ?
Options :
Lo65
2, 129
3. 258
4 730

Question id : 6059 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following 15 not the Maxwell's equation ?

Options :

1. s 2

% divD=p

2. in =

» dwB=—u,J

3 = B

% curlE = o
ié carlH=T+—

Question id : 6059 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
farafafag & 9 =ia Hagae &1 GHET 96T & ?

Options :

; djvﬁ:p
2. . = 3
v divB=—p J
3. - -ZB
curlE=——

* at
. PP
‘; cur1H=J+£
ot

Question id : 6060 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of modes of vibration per unit volume between 10, 000A° & 10.020 A®is

Options :

; 37.7 = 101 vib/?
2@ 2514 wib/m?

i;' 37.7 = 1017 vib/m?
ié 37.7 = 10 vib/m’

Question id : 6060 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
10, 000A° & 10,020 A° & ofi=r 9T S&rs glelel & HisT Fir gwear &

Options :
L 377 x 10 vib/m3

®
2. o ib/m3
& 25.14 vib/m
3.

37.7 = 1018 vib/m?

>
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*® 377 % 108 vio/m3

Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The colours seen i the reflected light from a thin film are due to:

Options :

1. y .

P Diffraction

2. Interf:

o nterference
3. Polarization
#

4; Dispersion

Correct option is 2 and hence changed answer to 2.
Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U gael fihed & wrafdd werer # @1 o eRer ¥ fews & &

Options :

1.

% [oad

2.
TR
3. erdiegor
% 5

L oo

®

Correct option is 2 and hence changed answer to 2.
Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two coils. each of self inductance L. are closely wound in series such that the sense of their winding

1s opposite. The equivalent mmductance of the combination 1s:

Options :
1.
« 2L
2. y
P
3.
< Zero
4.
#

Correct option is 3 and hence changed answer to 3.
Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

ar @Sl od & gedeh & L T-Rahed §, A A 59 UBR HEEx oudl 75 §

I asfEe u Auld &1 9= & qeae WRehed a6

Options :
oo
2 L2
; Zero
Lo

Correct option is 3 and hence changed answer to 3.
Question id : 6063 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The torque experienced by a magnetic dipole. having dipole moment M, when placed in a uniform

magnetic field of intensity B 1s:

Options :

1.

. MB

2.

. MB
5. Ml

* |B

4.

& Mx B
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Question id : 6063 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

s Trh gfaga Sree efava HEYT M g, & S B q9@al & §AET gEadid &

T @1 A ¢, A 36F caRT IeEd AT A aren et fhaer &

Options :
1.
" MB
2.
- M.B
s Il
#* |8l
4.
o MxB

Correct option is 4 and hence changed answer to 4.

Question id : 6064 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The magnetic field. due to a circular coil of radius a. carrying a current I at an
axial pownt distant = from the centre of the coal, 15 given by:

Options :

; B= f.LlDf(Fl)-(E((Tj‘i':l)a 2
2. B VO
% B=GQ@+="?)
3. B=( s By 20 2
® = (uaia ) (2a +=7))
4; B= f,uofaj}.-'( a2 P

Question id : 6064 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

TS TFahT & A S @ F geaihR Fsell & FROT Fe / Vared §, Fsel & e

¥ el g & z gl W ¢, 9 9 veR caad fFar S &

Options :
LB = (2P A2
% B = (AR
% B = @D
% B =@ P2

Question id : 6065 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The London equation 11 a super conductor 152

Options :

g viB= B(mcl) (4n nqu
2. 2B = Bmed (a2
» V°B= (me=)/(4mng”)
3. 2p_ 2 2,2
5 V7B =B(mec")/(4mng’)
4. 2] 7

w A B = B(mc")/(4mg~)

Correct option is 2 and hence changed answer to 2.
Question id : 6065 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ek fgaeie & ded THEOT S8 O & B

v2B = B(mcd)/(4w ng?)
v2B = B(mcd)/(dmng?)12

v2B = B(mcd)/(4mng?)2

AB = B(mc2)/(4nng?)

Correct option is 2 and hence changed answer to 2.
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Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The following differential equation

a(dJ v dxl) + b( clljc-’d:s'.l]ll +exy=0
15 of:
Options :

first order
second order
zeroth order

third order

UEE N S e

Correct option is 2 and hence changed answer to 2.

Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TFATARaT Haehel AT

a(d?y/dx?) + b(d2y/dx2)2 + cxy = 0

SaH

Options :

L oo Aol £ 3

>, cfada Aot #r

3 oy Aok dr ¥

1 g At

Correct option is 2 and hence changed answer to 2.
Subsection : 2, Question Shuffling Allowed : Yes

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If £ 15 twice differentiable such that f"(x)=—f(x) and f'(x)=g(x). h(x) :[ g (x)]: +[ g(x)]:_

then the value of h(10) if h(5) = 11 1s equal to

Options :

1.
%
2.
%
3.
» U
4.
x 1

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ffe f & AR ashereta ¢, S & 7D =) IAR ) =2(0).

) =[fT +[g(x)] . @ Tam & af h5) = 11 &, @ h(10) &
A s et gen

Options :

1.
£
2.
. 8
3.
v N
4.
E

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The points at which the tangent to the curve v = 45 is perpendicular to the line

xt3y=2 are
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Options :
1.
v (1.6).(-1.4)

2 /
“ (1.6).(1.4)
3. .

- (6.1). (4.-1)
4

“ (6.1).(-1.4)

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

7 fag ®l7 & & 59 W awk y = x>+5 &7 ToeR@r x + 3y =2 (@ & w@Fedd §

Options :

L (18, (14)
2 (16), (14)
L 61, @)
L6 (14

Question id : 6069 Questlon Type : MCQ (Correct + 1.0, Wrong - 0.0)

A Y : fu
— + tan™ | = | ., then the value of 1—+ y— 15
L) L/ ex '

If w=sin ll

Options :

1. =
+ U
2& 2u
3.
#
4.
& 0

Question id : 6069 Questlon Type : MCQ (Correct + 1.0 , Wrong - 0.0)

\
1' x 1f Jv
Ife u=sin —L+mn =
wy/ \ X/

| & HTYE+1E F AT FE

Options :

U

2u

T L =
= L
=

Question id : 6070  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The solution of the differential equation (¥ +x)" — =a” 1s grven by
ax

Options :

1. g sl y—c)
V+x=atan|

o L a )

2. i (y—rc)
y—x=tan,

% \"a )

3. ; i
v—x=atan| y—c¢

Lo (y~e)

4, (e}

% a(J.'—_\'j:tan:‘ ==

a)

Question id : 6070  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Tastees aHeoT (,1-+x)3%=aza?rmsﬂﬁﬁﬁmﬁ?a@rmﬁwm%‘:
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1. P i | ¥—¢

o FrEEE an;‘ |

2. . 'J}'—f- \
y—x=tan

® - L a JI

3. ; \
yv—x=atan| y—«¢

. y=c)

4. ()

% a@-0=tm|y-—|

\ a )

Question id : 6071  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Eliminating a and b from the (x—a)* + (y—b)* +z° =¢’ the partial differential equation is

Options :

L pgip=¢?

#®

2. A A 2
@ 2 (p+g +1)=c
3. 2.2, 2 1
w Z@tag)=c

w ZP-q)=c

Question id : 6071 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

(x—aP +(y—bV+z'=c"F a 3R b TFa &5 F I A TacE gigor =989 T

e a1 &

Options :
1.

Z(p-g+h=c’
2P +gt+h=c7

2(p* +4) =€’

%
2.
\./
3.
%
4. 2 2

w Zp-q)=c

Question id_: 6072  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

7 = n S g
The series 3 (2x)" converges if

Options :

1. i

P —l=x=1

2' g o
w —25x=2
3.0 1 1
W Ec.x.E
4, _ L n sl
% 355=3

Correct-option is 3 and hence changed answer to 3.
Question id : 6072  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Aoft 37 (2x" AR g & g

Options :

1. 5w

*® -1=x=1

2. 2<x=2
x —25x=2
3.0 _1 1
v "33
4, kg =
% E_-X_vg

Correct option is 3 and hence changed answer to 3.
Question id : 6073  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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The sequence {S,} defined by 5., =.J7+5,.5 = J7 converges to

Options :

1. g 5 o
Posttive root of x* —x—7 =0

2. N 1 2

% Negative root of x* —x—7=0

3. 25 5 =

g Posttiverootof x”+x—7=0

4. S 1 &

% Negative root of x* +x—7=0

Question id : 6073  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
S0 =A7+5,.8=7 zarr aRenfa AN st § R SR o &

Options :

I F—x-7=0 & ueers 7@
é x—x=T=0 H FHONHF AT
; X +x=T=0 I TeAlcHD Hel
‘; P +x—T=0 & HONHE Hel

Question id : 6074 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of cosets of H in G. where G =(Z, +) and H = 42, +)1s

Options :
1.
o 0
2. 4
v 4
3.
% 1
4.
®

Question id : 6074 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
GH H& 9 Gl Bl SEA SAA G R L, 61 G = (£ #) IR H = (42 H§

Options :

P> w2 > g

Question id : 6075  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If R 15 commutative ring with unit element. M be an ideal of R and R/M 15 finite mtegral domain then

Options :

1 M 1s a maximal ideal of R
¥ 4

2& M i1s mmimal ideal of R
:; M 1s a vector space

4, -

* M1s acoset of R

Question id : 6075 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g7 sas Hadd & 91 A eEAEET aoa &, M R @ Ue e & 3k AWM aRfag
FAERS S &, ar

Options :
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M, R & 3fasan e §
M, R & #gsda e &

M ver Gfeer e &

R 2 1 S

M, R & @8 TH==1 ¢

Question id : 6076 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let A be an nxn matrix from the set of numbers and 4 =347 +44—67=0 where [ is an nxn

unit matrix. If 47 exists. then

Options :

1.

®

2.

®

3.

®

4 4t =l[',x1J —3.4+4])
o 6" 7

Question id : 6076 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A ST & Twant & e aHeeg A ¥ axn ARtES § IR A 347 +44-61=0

S8 | TF uxn SHE HeEFT gl A T W/ &, ar

Options :

1.

®

2.

®

3.

®

4. 4‘1:1[' 41 —34+41)
& 7 6" e J

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

| 6 -2 12
If the product of two eigen values of the matrix | =2 3 —1| 15 16. then third eigen value 15
(Zlalh, 3 |
Options
1.
o
2. 5
x 2
3.
% 36
4.
% O

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

6 2 2
Aeaw |2 3 1| & @ fEwatiE (35de) AW # TGS 16
2 =1 3

g, o1 I arfareeTvE (rSAe) A 398 O =T E

Options :
1.
o
2.
- -2
3.
" 36
4.
- 6
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Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If 3x+2v+z=0, x+4v+z=0, 2x+yv+4-=0 be a system of equations then

Options :
1t can be reduced to a single equation and so a solution does not exist
1t has only the trivial solutionx =y =-=10

it 18 consistent

determinant of the matrix of coefficient 1s zero

P> gL > g

Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T Ix+2y+2=0, x+dy+z=0, 2x+y+4dz=0 THHION FT gomelr & ar

Options :

T T Y UF THEIOT dF &H S = Tahdl & AR 5T T6R & "6 &l &
SHRI TF O FA X =y =z=0%
% FEIE &

AU F HieET F EROE o T &

R 2 O

Question id : 6079  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a coordinate system is attached to a rigid body and one describe the position of any particle

relative to it. then such coordinate svstem is called

Options :

frame of reference
coordmate svstem

space time reference system

> P og8d ¢

Space time distance velocity system

Question id : 6079 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
afe v THeay yoTe (FnRiifEae fGeA) th e s & o2 &5 & ik 7 sud des
faelt ot &1 Teufa &1 avla eear & dl S9 a¥e & TAwag YOIl &1 @7 el Sl &

Options :
TeH faeanT
THead WoTel!
fearrer Tgst yomelr
Ryerepror g AT womTelT

Rl 2 AN S

Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a small displacement of a system from the rest position (after getting some energy) results m a

small bounded motion about the equilibrium position. then the system 1s m

Options :

neutral equilibrium
Unstable equilibrivm

Stable equilibrivm

P P v w-

Natural equilibrium

@Teacningninia.in


Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook

Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook


Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T ol yomelr & e & Fufd & ol 3§ favuas &1 IROTH (F& el 9red e
& o) FEETaERT # o Uiteg A1 gar & uorel s ¥ Ry Rufa 7 8

Options :
TR HIHETGEAT

ITETET HrTaERT

T G

B8P L w> w-

TAETad FrEATaET

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let I"be a 3 dunensional vector space with 4 and B its subspaces of dimension 2 and 1 respectively.

If AmMB= {0} then

Options :

Lov-a-3
2 V=A+B
3 v=iB

Y v-us

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A= &ifFT 6 Ve B afgyr Garaa § s A 3 8 Faen 2 3R 1 3

& 3u-feaea §1 o 4nB={0} &, &

Options :

Lov-u-3
2 V=A+B
3 r-4B

Y v-us

Question id : 6082 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Consider the linear transformation T : R®* = ®* given by T(x v.z.u) =(xv.0.0)7(x, v, z.e) e B

Then, which one of the following is correct?

Options :
Rank of T = Nullity of T

Rank of T <= Nullity of T

Rank of T = Nullity of T=3

T L I

Rank of T=Nullity of T=2

Question id : 6082  Question Type : MCQ (Correct + I.Q , Wrong - 0.0)
Teey.zaw)=(xp.0.00V(eyzu) e R g@nr f@v 7[¢ @sH TR TR >R @
oA fIf5T) s8F g gaev & Feaftag & O &l ar 98 82

Options :

LoTE > T d e
2 T#EYE < T f e
3 T @ YE > T eaar = 3
4.
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¢ T & E > T & oo = 2

Question id : 6083 Question Type : MCQ
The order of convergence of Newton Raphson method 15

Options :

-

P> > ad

Question id : 6083

Options :

-

g 8> 8wd

Question id : 6084 Question Type : MCQ
The maximum step size h such that the error in linear interpolation for the function

v =siny in fo,7] 15 less than 5x107 15

Options :

-

B> g» b

Question id : 6084 Question Type : MCQ
firhad \OEr AT (9 @5 h 58 R § &F Jon] & y = six Bod & foro

0.02

0.002

0.04

0.06

Question Type : MCQ
e TR fafd & e s F @

ifa® sadee 7 3fe 5x10° & &1

Options :

'S=

P> v gd

Question id : 6085 Question Type : MCQ
A curve 15 drawn to pass through the following

0.02

0.002

0.04

0.06

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

X

1

15

N

-

i}

3

353

4

v

N

24

5

=
!

-

8

3

26

21

The area bounded by the curve. x-axis and lines x = 1. x = 4. The volume of solid generated by

revolving this area using Sumpson’s 3/8 rule 13

Options :

1.
%

68.54
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f/ 6538
3, )
S 6358
T 6438

Question id : 6085 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T g% SFEAfead ¥ g7 Y o & oY ga e aaw g

X 1 b |2 25 3 35 4

V' 2 2.4 27 2.8 3 2.6 2.1
ask, x-3787 3 W@ x = 1, x = 4 @R &1 uREs fear mr &1 eawa & 378 fAuw
& ST S 36 & H gHe diel O T AT 34 & F4T 6

Options :

L 6854
f/ 65.38
3 6358
4 6438

Question id : 6086 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The function w = Jog = 15 analytic everywhere except at the value of z then z 15

equal to
Options :
1.
*® -1
2.
* 1
3.
#
4.
o 0

Question id : 6086 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
z & T F I Bel wo= Jog z Toie T R Eeoencas £ o z ey auew

g
Options :
-1

L 8w 8D g

Question id : 6087 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The Tavlor series expansion of 7=|z|f.1 15
z—12
Options :
1. 1 2
|l
®
21 2 g
2 1 z
o —= =t —+—
¥ 2l 2 4 87
1, z 22 2
¥ -3 gty
=i W )
4
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Question id : 6087 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
<1 & ot Aol faear sad & &ia ar g

ks
z=2
Options :
1 1 Z )
| T
® 21772 g7)
2 1 Z )
—— =t —+—
v 2\ 727378
l"‘1 z z+z'= )
® 2 2 4 8 J;'
4. 1., z 22 £ )
x g MhpmcEmge]
ok = /

Question id : 6088 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let x be a non-optinal feasible solution of a linear programmung maximization problem and v a dual

feasible solution, then

Options :

1& the primal objective value at x 1s greater than the dual objectrve value at v
2& the primal objective value at x can be equal to the dual objective value at v
; the primal objective value at x is less than the dual objective value at v

A; the dual can be vnbounded

Question id : 6088 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
i v ITES FARYT TahaH ol (SEHT ATAs-e) TATal & U TR-55ead <dded TATE X § 3R y Sy gagd game=T §, ar

(?T%m%w@ﬁmmywmw@ﬁmmﬁmwmmmﬁ
2 x 9 YR EqISe A, y O EI6Y aediee A aXiat 6 aohdr ¥
3, x 9 URfEE aegfes A1, y 9 AR avqiese A & 36T & gl
1 AR () F IREE (ererss) fher o Fehar &

Question id : 6089 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A square 15 a convex set. its exterior points are

Options :
1 .
) ‘ertices of s 1
2 VErtices of square

sides of squares

inside of square

g g» a>

QOutside of square

Question id : 6089 Questlo e: MCQ (Cosrgct +1.0, Wrong - 0.0)
T 3T U 3cdel AT mﬁ'?r qFelg ?

Options :
L, @ % Rrfag
% e & ored
3 @ @ s
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4.

. e T ATET AT

Question id : 6090 Question Type : MCQ

AtoBis
Options :
1.

®

2.

%

300 o
v 2

4. o]
x 2

Question id : 6090 Question Type : MCQ

e A TEh T ¢ o P’ aad b 3B wHesw & Q' y@¥a g, ot A W B @&

el &1 FEr e §

Options :
1.

£

2.

£

3. om
J

4. B+
% 2

Question id : 6091 Question Type : MCQ
Which one of the following 15 a null set?

A={x:xisprime}
B={x:x+8&=8}

2 -
C={x:x"+1=0_x1sareal number}

£

D={x:x"=4 xisanmnteger}

Options :

1.

& C

2.

« D

3.

w A

4.

E

Question id : 6091 Question Type : MCQ

(Correct + 1.0 , Wrong - 0.0)
Let A be a set having “p’ elements and B be the set having “q” elements. the number of relations from

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

Fafafad & ¥ S @ va Red wq==1 §7

A={x:x3=g

B={x:x+8=38}

C={x:x2+1=0, xUF aeade e &}

D ={x:x=4, x T quiic 8}

Options :
1.

J
2
« D
3.
. A
4
R
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W

Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The locus of poles of normal chord to the parabola 1 =4ax is

Options :

L (e+2a)yi-4a7=0

%
2. 4 2 3
» (x+2a)y” +4a =0
3. PSP S R

* (x—2a)y" +4a’ =0
Y (x-2a)7 —4a =0

Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
W ' =dax & AT ST & @FA 0 fdag g

Options :

L (x+2ay 4a'=0
2. Ayl ed g =
< (x+2a)y” +4a =0
3. PR S N
* (x—2a)y" +4a’ =0
1 (x-2a)t —4a’ =0

Question id : 6093 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The equation of plane which passes through the point (2. -3, 4) and 1s parallel to the plane 2x — 5y —

Jz=61s

Options :

L 2xsy-72-9=0
2 2xSy-7z+6=0
; IxSy-Tz+9=0
‘; 2x5y—Tz-6=0

Question id : 6093 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
3 HAS & GAEET 341 § S 65 (2, -3, 4) ¥ 8l FX o § 3% gHae 2x - by -
7z = 6 & GHEEN &

Options :

L o2x8y-7z- 9-0
2 2 By-7z+6=0
f? 2x By -7z +90=0
4 2x5y-7z-6=0
® y z B

Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The value of ” { vzdydz + zxdzdx+ xyeedy ) where S is the surface of unit sphere 432428 =1 is

Options :
1.

% O

2.

®

3. g
v 41 /3
4.

o 10w
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Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

H(J.'zafl.'dz+zxdzd:\'+x;|.'aimj.'] & H A8 § & SEl S S_cFl'é' &1 &7 TdE

.1:;2+}':+Z: =1

Options :

1.
#®

i 4T
S a3
4 10

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
1.

The value of | F(x)dx. where f(x)=1-2x,x=0; f(x)=14+2xx=0 1s
T

Options :

1.
#®
2.
#w
3.
S, 4
4,
% 0

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
i

| f(x)dewhere f(x)=1-2x,x20; f(x)=1+2x2x20 T HA FT =

]

Options :

LY a> w-

%>

Question id : 6096  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The volume formed by the revolution of the loop of the curve

J.'](a +x)= x (a@—x) about x-axis s
Options :

1. 2 5
s T3TelE )

N
i

3 4

2. Ll T |
® 37 gae),'

3. 3

% —aid log 5
4. 2 _; g
o E,-Ta log 7)

Question id : 6096 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

X-38T & U aF ¥ (a+x)=x(a—x) & A & IREHAYT a1 I=d AT -

1. 2 (87
——7ra log| —
® &)
2. 2 3 47
*® §,-Ta log 7)
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English Language
Section type : Online, Number of Questions to be attempted:20, Mandatory or Optional: Mandatory, Section Marks: 20.0
Subsection : 3, Question Shuffling Allowed : Yes

Question id : 6097 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word sumilar in meaning to- ABANDON

Options :

lgé Possess

2# Keep with
3\_; forsake

4, :

. union

Question id : 6097 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word simuilar in meaning to- ABANDON

Options :

lgé Possess

zgé Keep with
3. 3

v forsake

4. :

. union

Question id : 6098 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

Irritate
22;'; Decline
32;'; Praise
i& Excited

Question id : 6098 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

l_/' Irritate
zgé Decline
:;é Praise

2;;’. Excited

Question id : 6099  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Grve one a long rope

Options :

I to let someone commit mistakes
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to give a big helping hand

to support a person

P> 8L 8> ¢

to make 1ssues of small matters

Question id : 6099  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Grve one a long rope

Options :

to let someone commit mistakes
to give a big helping hand

to support a person

#H w> ow8d

to make 1ssues of small matters

Question id : 6100 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Hard nosed attitude

Options :

quality to forgive
protective

aggressive

#H (X wd w-

calm

Question id : 6100 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Hard nosed attitude

Options :

quality to forgive
protective

aggressive

P ¥ 8> n-

calm

Question id : 6101  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Select the most approprniate for the phrase: Wild-goose chase

Options :

collective effort
hard work

Very profitable

P x> 8D x-

Unprofitable

Question id : 6101 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Wild-goose chase

Options :

collectrve effort

hard work

®#» owd w-

Very profitable
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4 Unprofitable

o

Question id : 6102 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=advocated complete equality:

Q=1n 1854, Anthony devoted herself:

R=between men and women:

S= to the rights of women and

Options :

; QSRP
i? QSPR
; SPRQ
2 SRPQ

Question id : 6102 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=advocated complete equality:
Q=1n 1854. Anthony devoted herself:
R=between men and women:

S=to the rights of women and

Options :

; QSRP
i? QSPR
i SPRQ
2 SRPQ

Question id : 6103  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Find correct sequence of sentences:

P= occur m the Earth’s mesosphere:
Q= about 40-60 miles:
R=meteors. also called shooting stars:

S: at an altitude of

Options :

; PRQS
i PRSQ
; RPQS
t7 RPSQ

Question id : 6103 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=occur in the Earth’s mesosphere:
Q= about 40-60 miles:

R=meteors. also called shooting stars:
S: at an altitude of

Options :

1.
L PRQS
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2. PRSQ
#®

3.

> RPQS
4. '
*, RPsQ

Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

O=while talking to a group. one should feel self-confident and courageous:
P=Nor 1s 1t a gift bestowed by providence on only a few:

Q: One should also learn how to think calmly and clearly:

R Tt 1s like the ability to play golf: S=It 15 not as difficult as most men imagme:

T: Any man can develop his capacity if he has the desire to do so.

Options :

1. :

!, OQSPRT
2.

> OSPRQT
3 ;

> OQRSPT
4 OPQRST
#®

Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

0= while talking to a group. one should feel self-confident and courageous:

P=Nor 1s 1t a gift bestowed by providence on only a few:

Q: One should also learn how to think calmly and clearly:

B It 1s like the ability to play golf: S=It 15 not as difficult as most men imagme: T: Any mau can

develop his capacity if he has the desire to do so.

Options :

1. .
!, OQsPRT
2. OSPRQT
#®

3. X

> OQRSPT
4 OPQRST
#®

Question id : 6105 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Government by inexperienced persons 15 called.

Options :

1& Panarchy
i Oligarchy
; Neocracy
ié Ochlocracy

Question id : 6105 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Government by inexperienced persons 1s called.

Options :

lg Panarchy
2. PR
< Ohgarchy
; Neocracy
4.
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%  Ochlocracy

Question id : 6106 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Creak 1s the sound of,

Options :

lgé Crows
3) Doors
33;'; Dogs

i‘é Coins

Question id : 6106 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Creak 1s the sound of,

Options :

ié Crows
3} Doors
33;'; Dogs

i'; Coms

Question id : 6107 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: STAID

Options :

| RESPECTABLE
2. e

2, FRIVOLOUS

3. STARCY

> ST/

% DEMOURE

Question id : 6107 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: STAID

Options :

L RESPECTABLE
2. FRIVOLOUS
J

3. STARCY

> ST

i;{ DEMOURE

Question id : 6108 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: SULK

Options :

1. A TN
!, COMPLIMENT
2. MOROSE

%

3. SILENT

% )

4. ;

. GRUMP

Question id : 6108 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: SULK
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Options :
1. . e
o COMPLIMENT

2. .
> MOROSE
3. SIMENT
& )
4 GRUMP
- )

Question id : 6109 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration

The Indian express savs. We shall 1ssue an astrology section mn our Thursday's paper .

Options :

P w» & g

Question id : 6109 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration

The Indian express says. “We shall issue an astrology section 1n our Thursday’s

paper .

Options :

> 8Y 8D g

Question id : 6110  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to inspector. “Call the thieves™.

Options :

The judge urged inspector to call the thieves.
The judge ordered inspector to call the thieves.

The judge requested inspector to call the thieves.

R 2 L

The judge ordered inspector to get the thieves.

Question id : 6110  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to inspector, “Call the thieves™.

Options :

The judge urged inspector to call the thieves.
The judge ordered inspector to call the thieves.

The judge requested inspector to call the thieves.

#P 8L (O g

The judge ordered inspector to get the thieves.

Question id : 6111 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said, “Ugh! I have hated him™

The Indian express savs that it will 1ssue an astrology section i their Thursday’s paper.
The Indian express savs that they will 1ssues a astrology section in their Thursdav’s paper.
The Indian express said that 1t will 1ssue an astrology section 1n its Thursday’s paper.

The Indian express savs that it will 1ssue an astrology section in 1ts Thursday’s paper.

The Indian express savs that it will 1ssue an astrology section i their Thursday’s paper.
The Indian express savs that they will 1ssues a astrology section in their Thursdav’'s paper.
The Indian express said that 1t will 1ssue an astrology section in its Thursday’s paper.

The Indian express savs that it will issue an astrologv section i 1ts Thursdav s paper.
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Options :

She exclaimed with disgust that I had hated him.
She exclaimed with disgust that she had hated him.

She exclaimed with sorrow that she had hated him.

She exclaimed with disgust that she had been hated him.

CEE 2 L

Question id : 6111 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said, “Ugh! I have hated him”

Options :

She exclaimed with disgust that I had hated hum.
She exclaimed with disgust that she had hated him.
She exclaimed with sorrow that she had hated him.

She exclaimed with disgust that she had been hated him.

2P 8P (O w-

Question id : 6112 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the people to their religious differences and strengthen

secularism in the country

Options :
1.

% Condemn
2 sink

3. Exhon
4 Abolish

Question id : 6112  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the people to their religious differences and strengthen
secularism in the country

Options :

* Condemn
2, Sink

3. Exhort
4 Abolish

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

I have profound respect for his political

Options :

L. p li
E tv
“ ersonality
2. "
= Ambition
3. Temperament
#
4. g :
agacity
\"f - -

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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Choose the correct option for the following blanks.
I have profound respect for his political

Options :

g Personality

2& Ambition

3& Temperament
i; Sagacity

Question id : 6114 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.
In spite of our best efforts. we failed to any new facts from him.

Options :
1.

Elicit
2@ Detain
3@ Eject
% Enlis

Question id : 6114  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.
In spite of our best efforts. we failed to any new facts from him.

Options :

L, Eticit
2& Detain
'Zé Eject
% Enlis

Question id : 6115 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Choose from the given options and improve the sentence by replacing the words typed in bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :
Know that why did the apple fall

Know why the apple fell
Know that why the apple fell

No improvement

R N L I

Question id : 6115 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Choose from the given options and improve the sentence by replacing the words typed in bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :
Know that why did the apple fall

Know why the apple fell

Know that why the apple fell

R 2 L

No improvement
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Question id : 6116 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money
Ransom to an enemy

Money for compensation

P (X wd w-

Question id : 6116  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money

Ransom to an enemy

P (X 8> w-

Money for compensation

General Intelligence/Reasoning

Section type : Online, Number of Questions to be a pted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 4, Question Shuffling Allowed : Yes

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In group of six women there are four dancers, four vocal musicians. one actress and three violinists.
Girtja and Vanaja are among the violinists while Jalaja and Shailaja do not know how to play on the
violin. Shailaja and Tanuja are among the dancers. Jalaja. Vanaja . Shailaja and Tanwa are all vocal
musicians and two of them are also violnists. If Pooja is an actress, who among the following is
certainly a dancer and a violinist?

Options :

; Tamya
é Jalaja
; Girija
‘; Shailja

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
. AGART & U6 GAp # 9K ddihdl, 9] MRS, T sl 3K de

arateaeaT &1 e 3R ader aafemaieaT € 3 S 3R deer amfee
TSI AT S| Serer 3R AeE Al A W {1 Soren, aaen, ders AR deen @l
miawT § R sAH § &1 aafoe area o 81 3fg 9= v #eEh § dr e &
Fia d1 Afger @Ead ®9 § s adddr v aafes arfesr &7

Options :

\1? GoEl
2. =T
#®
3 fafwn
®
4.
o e
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Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The letters L. M. N.O_P. Q_E_ S and T 1n their order are substituted by nine mtegers 1 to 9 but not
in that order. 4 15 assigned to P. The difference between P and T is 3. The difference between N and

T is 3. What is the integer assigned to N

Options :

1.
< 6
2.
®
3.
®
4. 4
x 14

Correct option is 1 and hence changed answer to 1.
Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
MEN LM NOPQRSIHN TS +m & 1 9 a5 & 31 O &t semr ol &

ufcefug ferdr e €1 P &r 4 O uioeufug frar arr B P 3R T & d & 3aX 5 B
NN T & &= & 3w 3 B a7 N #r ufdenta e arel e & 9ar sy

Options :

1.
o 6
2.
E
3.
#®
4.
x 14

Correct option is 1 and hence changed answer to 1.

Question id : 6119 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Five people A. B. C. D and E are seated about a round table. Every chair 1s spaced equidistant from
adjacent chawrs. C 15 seated next to A: A 15 seated two seats from D: and B 15 not seated next to A.
Which of the following must be true?

@D D 15 seated next to B
(I E 15 seated next to A

Options :
(D) only

(IT) only

(I} and (II) both

#H> €Y 8> w-

Neither (1) nor (II)

Question id : 6119  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U ST A.B.C.DHRE UF 7 A7 W §5 §1 uodE & T s i a3 ¥ wAw

R R C,AF A Ader §; A DA die Bisa 4T & B, A & w9
H T ot Bl sAd & Fl o e v B

() D,B#F @S derd
(ID E, A% 99T # &1 &

Options :
e (I)

#
2.
#
3. -
o (D 3R aner=r
L aeoFdm

Question id : 6120  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

@Teacningninia.in


Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook

Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook


There are six villages A. B.C. D. E and F_ village F 15 1 km to the west of D. village B 1s 1km to the
east of E. village A 15 2 km to the north of E. village C 15 1 km to the east of A village D 15 1 km to
the south of A which three villages are in a line

Options :

L AcE
fk AD.E
3 ABC
4 DFE

Question id : 6120 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0) _
A B C.D.ERF @7 o ifa §| g F, D & 9ffgs # 1 5. gff = foaa &) a1fa

B,E& Jd # 1 Rr#AL gff ™ Fed &1 7@ A, E & 3o 7 2 &AL gt W Rud 81
Aa ¢, AF gd A 1 & g X Rum &1 aia D, A & gfaer 7 1 s @ Rea g
Sod W ST ¥ O g v @ # T §7

Options :

L aAcE
@ AD.E
3 ABC
4 DEFE

Question id : 6121 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Mr. kumar drives to work at an average speed of 48 km per hour. The tume taken to cover the first
60% of the distance 1s 10 minutes more than the time taken to cover the remaining distance. How far

15 his office?

Options :

L 30Kkm
2 40Km
3. 48Km
% 56Km

Question id : 6121  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A FAR FA W A & @0 48 ey wfd 8¢ &1 siva aifd @ ans =emd 1 g0

& ugel 60% HET T OF A H T T HAT A9 gl @ dhal wled H oA diel
gHT & goe # 10 fide s §1 3a6 sy e o 8

Options :

L 30Km
2 40Km
3. 43Km
; 56 Km

Question id : 6122  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A tramn travels at a cerfain average speed for a distance of 63 km and then travels a distance of 72 km
at an average speed of 6 km/'hr more than its original speed. If it takes 3 hours to complete the total
journey. what 1s the onginal speed of the tram 1n km/hr?

Options :

1.
% 060

2.
®
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Question id : 6122  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

T o 63 fFeAReR @ gl ve WREd iea afd @ ag el ¢ 3k 9% i 72
A & gl 3oel aredfa® Afd F 6 FhAL/Ee & saer i a9t § e
81 T A G e F 0 SH 3 G e B3 Y aredfad i mALEe A

T &7

Options :
60

L w#> -

8>

Question id : 6123  Question Type : MCQ (Correct +1.0, Wrong - 0.0)
Find the next number of the series: 1.5.2.3.3.1, 3.9,

Options :
93

6.5

L owd> w-
o
|

16.8

8>

Question id : 6123  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT 7 AT T H OaT o9ne: 1.5.2.3.3.1.3.9. .

Options :
93

6.5

L ud> u-

4.7

16.8

8>

Question id : 6124 Question Type : MCQ (Correct + 1.0 Wrong 0.0)
Find the next pair of numbers of the series: 21. 25 18. 29 33. 18

Options :
37.41

'

37.18

4518

41.18

P v gd

Questlon id : 6124 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AEelT H 36l TEAT SIS & 9al ofdmd: 21, 25, 18. 29, 33 18..

Options :
1. ;
@ 37.41
2.
p 37.18
3
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Question id : 6125 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the wrong number of the sertes: 1. 3. 10 21, 64.129 336777

Options :

L1
2 356
3 6
4

Q_uesti(m_ id : 6125 Question Type : MCQ (Correct +1.0, Wrong - 0.0)
A H FTord GEAT HT Iar ofdme: 1.3, 10, 21. 64.129. 356. 777

Options :

Lo 129
2 356
364
Yo

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code MIND is written as kglb. ARGUE as vpese. How DIAGRAM will be coded in the

same code?

Options :

lé bgypeyk
é bgyevpk
f; beyepyk
‘; bepgyyk

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e ToIiFaa &5 & MIND &0 kelb, ARGUE & ypesc for@ /=T §, o 5@l &5 #

DIAGRAM @t e for@r srean?

Options :

ié bgvpevk
éé bgvevpk
f? bgyepyk
‘; bepgyyk

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code SISTER. is written as 535301, UNCLE as 84670. BOY as 129 How SON will be

coded in the same code?

Options :

l.
x 243
2.
w 193
3.
w 572
4
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@ 524

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ue fAfeag #i5 # SISTER & 535301, UNCLE & $4670. BOY &1 129 for@r =am &1 SHT

F15 # SON =T & orar srean?

Options :
Loo2a3
2793
3
i s

Question id : 6128 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Qut of 4 alternatives. 3 forms a group. Find the odd one out.

Options :

L 32156
2 34901
3, 33338
4 33

Question id : 6128 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
4 fawedt F ¥ 3 ve FFF a9d o1 TuH faweT & g

Options :

L 3156
2 34901
3 33338
4 3

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
BANANA 15 related to FRUIT in the same as CHRYSENTHEMUM 15 related to.

Options :

1. -

I Grass
2.

> TREE

3. STONE
& )

4 FLOWER
\:/

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fem, Tt W ST TER FafUd & O TBR aearsar T wEtET g

Options :

Question id : 6130  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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Ram ranked 131 in the class of 33 students. There are 3 students below Suresh rank-wise. How
many students are between Ram and Suresh?

Options :

1.

® 12
2.y,
7 14
3.

P 18
4. 5
x 22

Question id : 6130  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
33 BT & FETW A A 13 T FAF W G {F F BT § G & AT 5 I §1 H

3R gy & & e o &7

Options :

1.

P 12
2.,
WV 14
3.

P 18
4. 59
x 22

Question id : 6131 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Sonia was walking on the street when one lady approached him to donate for cancer patient. She
gave her a rupee more than the half of money she had. She walked a few steps more when a girl
approached her to donate for poor peoples’ fund and she gave 2 rupees more than the half of the
money he had then After that a boy asked her to donate for blind’s fund and she gave 3 rupees more
than the half of the money she had then. In the end she was having 1 rupes left i his hand. How
much rupees Somia was having in the begmning?

Options :

L0
2w
3 54
1 16

Question id : 6131 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HIfear W% W gA W o0 99 UF AfRen o I 0F F W0 F [ g9 S F F

IHS 39 AfSel &7 {97 U9 3UeEY O & HIUE 9 A ¥ U ®OU Al &7 Ui 8
&1 a8 T & FeA 3 adr off & e asH o 3 T el & FIT H el Sof
F5T AR ST & 3T 79 9T I € & I ST § 2 FAT SAET hr TR &N
IAG dlG U oISth of 39 HET & Ush HIT HF &l Sl H Hel df 390 39 JTeT 979
IqeI=eT TR & AT AFT § 3 FUT SATGT &1 URT &7 AT H 39k 9 had 1 F947
| W & 9T e%ard H e s o9

Options :

L0
2 o
3 s
4 16

General Aptitude/Numerical Ability
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Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory,

Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6132  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the value of X for: (12.1 l}l F (}{)1 =7322921

Options :

L o202
2 242
331
4102

Question id : 6132  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
i f&&r ae weeer & AT X &1 7 Ag

(12.11)2 + (X? = 732.2921

Options :

L 202
2, 242
3 2.
1192

Question id : 6133  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(1024-263-233) = (986-764-156) 15 equal to.

Options :

(o)}

o T T T

Question id : 6133  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(1024-263-233) = (986-764-156) T ==X 27

Options :

P w8 8D g

Question id : 6134 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the value of X for: 36% of 850 + x% of 592 =730

Options :

1. c
P 73
2.
®
3.
PO 5
4.
\./

Section Marks: 15.0
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Question id : 6134  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
A 5 71T | & T X & AT AT w

36% of 850 +x% of 592 =750

Options :
73

P 8 8D -
(]
(5]

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The sum of the digits of a two digit number 15 12 If the new number formed by reversing the digits
1s greater than the original number by 34. then what will be the original number?

Options :

1.

#

2. 3
« 18
3.

o

4.

w 93

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ar 3l aTell §EAT & 3l &1 AT 12 §) IfG 7T TE&Ar & 36 & T #H 5 agel

Fh U o5 TEAT 715 S & S 6 Je gEm ¥ 54 34O g 7o e = g

Options :

l.

#®
2.
w 18
3.

o

4.

w 93

Question id : 6136  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
In the fraction. twice the numerator 15 two more than the denominator. If 3 15 added to the numerator
and the denominator each. then the resultant fraction will be 2/3. What was the original fraction?

Options :

L sns
2 613
3 136
R

Question id : 6136 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Teh 3797 (fraction) H. € IR =T Had T & 31f8a 91 =ar g1 I &7 3K q=e

UeAd F 3 SST AT § AT 36 IRONAT Her 2/3 U Sar §1 FHel 37er a4y 9an

Options :

L sns
2 13
3 1306
Y
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Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the fraction 8/5. 7/2. 9/5. 5/4. 4/5 are arranged m descendmng order of their values. which one will
be fourth?

Options :

Looas
@ 514
305
Lo

Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
8/5.712. 9/5.5/4_4/5 3731 FT ok Hedl & HAUET wH A e snar & ar = e w

TEam?

Options :

Lo
@ 5/4
395
Loes

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two taps can fill a tank individually in 10 min and 20 min respectively without any leakage.
However. there 15 a leakage at the bottom which can empty the filled tank in 40 min. In how much
tume will both the taps fill the tank with leakage?

Options :

L. 8 munutes

7 minutes
10 minutes

15 minutes

wH g» 8>

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& a1 e fordt R & v & 7 ®A 10 THae 3R 20 Fee # o9 o §1

greifen. A v e feud @ S s g & A 40 TRee 7 @l ) wear €1 Rema
& T ST 5o deh Wl Tohdel THT H #T &0

Options :

1.
o 8fAmE
2. me
3
3.
3
4 g
4

Question id : 6139 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If successive natural numbers are written m a row starting from 1. which digit appears in the 200tk
place?

Options :

1.
Q/O

2
®
3
®
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4.

®

Question id : 6139 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

g T afFd A IEAOE T 1§ F S oRIaR fodl S, ar 200 F T A wiE
T 37 gram?

Options :

0

#h w» 8> (-

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Trains leave the stations A and B simultaneously after an interval of every 1 hour. Each tram takes 4
hours to complete the journey. If a person starts from the station A for the station B. how many trains
will he cross before arriving at the station B?

Options :
4

wH (Y 8> w-

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ozl A 3 B w2l 1 1 898 & Haue & U 91y oisdr §1 e Teensar asr

F WA F T4 g ad §) IR tr IR TR B R A0 & P Bem A &
oE aXT ¢ o 9F TAA B W UG F Tel fahelell AMSAT S IR FRAM?

Options :
4

®H> Y 8> w-

Question id : 6141  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A person travels three equal distances at a speed of x km/h. v lan'h and z km/'h respectively. What 13
the average speed for the whole journey?

Options :

xvz / (xv + vz +zx) km'h
(xv + vz + zx) / Xyz km/h

3xvz/ (xy +yz+zx)km'h

®® (Y 8D w-

xvz /3 (xv + vz +zx) km'h

Question id : 6141 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
UF qTFd A SR gl #T AT FA x FALEe y SAvEe $R 2 TR Ee #r

afd & o &Xar ¢, a o aen & foe sitea afa @ g

Options :
;é xvz/ (xy +vyz+zx) foh.HL/EeT
2.
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#  (xy+vyz+zx)/xyz) fRALEE

‘; 3xyz/ (xyv +vz+zx) TR.AL/EET
ié xvz/3 (xv+vz+zx) TRALEE

Question id : 6142 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The average of 3 consecutive numbers 15 x. If the next two numbers are also included. how shall the

average vary’

Options :

It shall increase by 1
It shall remain the same
It shall increase by 1.4

It shall increase by 2

#H w> owd (-

Question id : 6142 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
5 oEaR Tt @ Aaa x &) afe e o et o anfie & & arear sitea

O & 9 ot 9 giadd wen?

Options :
Ig 1§ "

TqE 30T B B

IE 1.4 T 9% AT

> w» 8>

qE 2 § 98 AW

Question id : 6143  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A goat is tied to one corner of a square plot of side 12m by a rope 7m long. Find the area it can
graze?

Options :

lg 68.5 m?
fk 38.5 m?
é; 55.5m?
‘; 63.5m?

Question id : 6143  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T TaT U 12 e Tl oS arel @91 & U Pl W 7 HRT oFal ?rs-'rtﬂgé

g1 5T &e # U5 TN Tohd! & 3T TRl & 9ol oYy

Options :

L 68,5 @t afex
2. :
o 385 ad e
3. &g
s 53.5 @l HArex
% 635 @l e

Question id : 6144 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 cats caught 10 rats m 10 seconds. How many cats will catch 100 rats in 100 seconds?
Options :

L.
5 100

2.
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% 50
3.

>, 10
4
. 2

Question id : 6144 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 fafeert & 10 #53 7 10 =7 &1 9as foar) 100 HFs # fora=t fafeear 100 =[Er

&I GehsIr?

Options :

1.

s 100
2. &
" 50
3.

o 10
4 55
« 2

Question id : 6145  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Speed of a boat in still water 15 8 kimn/hr. It goes 24 kun downstream and comes back to the starting

pownt i § hours. What 15 the speed of water in the stream?

Options :

L 55kmm
2 35kmh
3, 40kmh
4 62kmh

Question id : 6145 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT ST H T o1 T Afg 8 fRAL/Eer §1 g9n 24 AL e f Ben # I & e

3R Ao URIEE g ugeer # 8 " @ THT S §) U A Oy H A = 87

Options :

1. S .
w S5 T /Eer
2 3sReAE
3. :
o AofEd/Eer
Y e2fRa e

Question id : 6146 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a class of 100 students. 50 passed in Maths and 70 passed m English. 5 students failed in both

Maths and English. How many students passed in both the subjects?

Options :

Looss
2. g
2,
34
4

Y

Question id : 6146  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
100 T &1 Tk FHar A, 50 B i # AR 70 © 3@ A 3T §U.5 o I

3R 37t Qe & sl @ Rre ST ae R 3 St gw

Options :
1.

35
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L

25
ST
4,

Lo37

General Knowledge/Awareness
Section type : Online, Number of Questions to be attempted:10, Mandatory or Optional: Mandatory, Section Marks: 10.0
Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6147 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
World war II began by German invasions on.

Options :

Lé Russia

%é France

32§ United Kingdom
4,

o Poland

Question id : 6147 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

gfadi faeags O ST & FHHCT F HA E FIAT o)
Options :

L.

e &

2‘ 4

33 1

3 e

33

4. 1_

o

Question id : 6148 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
On 15 February 2013, the Chelvabinsk Meteor hut.

Options :

Lé America
é@ Canada

32§ Mexico
i‘; Russia

Question id : 6148 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

15 TaRT 2013 &I, TeaTiatd HeR (Chelyabinsk Meteor) 3¢ehT al 9 1T off?
Options :

L sfa

2 s

3 At

i‘; &=

Question id : 6149  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Who has won the FIDE World Rapid Chess championship title 20137
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Options :

Magnus Carlesen

Vishwanthan Anand

Teimor Radjabov

8> w2 8D

Fabiabi Caruana

Question id : 6149 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

fiFg (FIDE) Taeg U5 ooR= SFTa=fag 2015 &7 oo fFdge Siar ar?

Options :

lk BT wrerdsT

é ICECGIE R G
3. :

y [EHR TeEEa

‘32 FITSHATAT HTEITAT

Question id : 6150 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The Washington Accord 15 an international accreditation agreement for educational degrees m,

Options :

lé Arts and Humanities
é Medical Science

3 . E 2 )

o ngineering

4. N

% Social Science

Question id : 6150  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

EHEIEIGGRE T Fr et Bl & BT v AORIrse Aeadr ed

GEEICIR

Options :

lg el AT ATaar
é IEIEGGIREEIGHE

3. % )

v seftferaRa

‘3; HATSAE O

Question id : 6151 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In India. inflation 15 measured by

Options :

I Wholesale price mdex number

é Consumer price index for urban non-manual workers
% Consumer price index for agricultural workers

1& National income deflation

Correct option is 1 and hence changed answer to 1.

Question id : 6151  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
HRT H HErehta ZanT AT ST B

Options :
L o wped gEa ww
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2 oelr IRHAF F v IueFar wET TEEE
3. AT SRR FEERE & AT v A qawE
‘; TS 3T OEhite

Correct option is 1 and hence changed answer to 1.
Question id : 6152  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Natienal income 1s.

Options :
Net National Product at Market price

Net National Product at factor coast

Net domestic product at market price

Rl Sl L I

Net domestic product at factor cost

Question id : 6152  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TS 3T FATH?

Options :
SR Hed W UG TS 3c91g,

TATS AET TG AT 3¢9

SR Hed T F el 3¢

#H P 8> wr-

TUTS TFIT WX Y& e, 3e916

Question id : 6153  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Organisms that generate energy using light are:

Options :

;é Oligotrophs

2& Chaemorganotrophs
:;é Chaemolithotrophs
4. Photoautotropl

v hotoautotrophs

Question id : 6153 Question Type : MCQ (Correct + 1.0, Wro_ng -0.0)
TERIeT ST 3T @lch Foll Icdeel dlel Alel Sild &

Options :

FITEEIE (Oligotrophs)
FHAHETEEIE (Chaemorganotrophs)
FAEIEF (Chaemolithotrophs)

T L

TIET3ATEIEh (Photoautotrophs)

Question id : 6154 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which technique is used for the study of land use pattern?

Options :

Aernal photography
Satellite imaging

Satellite imagmng and GIS

(P B 8D g-

Satellite imagmg. GIS and GPS
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Question id : 6154 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HF g deot & omes & v e assie & wer B S i

Options :
FaTS ISR (Aerial photography)

Eeose sAfST (Satellite imaging)
Feose sAfET 3R ST (Satellite imaging and GIS)
Teomse AT, SmsTy ¥R ST (Satellite imaging. GIS and GPS)

R ww owd g-—

Question id : 6155 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Particle size m so1l can be classified as

clay: 1-4 micron.

Silt: 4-62 micron.

Sand: 62-1000 micron:
Boulder: = 1000 micron.

In nature particle size distribution follows:

Options :

Binomial distribution

Lognormal distribution

Linear distribution

B we owd g

Normal distribution

Question id : 6155 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
HeT # FUT HR H 50 UHR § adfted T a1 Fahar §

et THEE: 14 A, W (Riee) 4-62 ATSHIE, dics TACE 62-1000 ATSHI; Sl =
1000 AEHIT| UHfd F H0T HHR F FAOT 57 UK &

Options :

gfaue Taerer (Binomial distribution)

FHHTA TaaoT (Lognormal distribution)
1@ Ta9T0T (Linear distribution)

AT fGaToT (Normal distribution)

T I L

Question id : 6156  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following latitudes passes through India?

Options :
Equator

Arctic Circle

Tropic of Capricorn

P 8> 8D -

Tropic of Cancer

Question id : 6156  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Trafaf@a & § ol &1 377y SRa ¥ gl Ao b7
Options :

I symesr T
83 LY
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